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Select one:

a. 5JBHomHo s 35L0YMHO

b. y39es Bsdmmzmowo s®LYdMBL

C. 899303500 5 50589939350
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Select one:

a. 95030L (gbol) s33eoEHM@s
b. 3s5330L (gbol) Lobdoty

C. 35030L (gbol) Lsfigolo BsBs

d. dsd30Ls5 (9bol) gegdE®mBsgboBHMmo GHowmol bog®dgts (A) s bsbol Log®dgl (1) Bmeol
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Select one:

a. ©gbo HY35Y® JrgdygbHdo.

b. @gbo obevygson® gwgdghddo;
C. 35035 06QJ3099M 99996 Y;
d. 05035 $33°7O gergdgbddy;
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Select one:

a. 3063003OM3MME0W0s A ©s M3I3MM3MME309os B
b. 306©530030Mm3mME0os D s v33Gm3mnmaomwmos B
C. 30MQ30M3MM3MM30Wwos B s v3930m3memEormwos D
d. 30H@s306H30M3mOE0wos C ©s ¥33HMm3mGE0mwos B
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Select one:

2 L=Yi-Yo-¥-¥5-2
phC=-N+Yo -1 % 2
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